[ Efficiency vs vertpos |

~ 0.05

D.045F oo SRR R R

2 : : :

2 0.04F e s e

©.035F oo e TR

3 : :

£ 0.08F - eoeeeefeererenenes e R
0.02BF-++e+seesfenrenieenes
0.02F -+ e b dde Lo

0.01

Ratio

15

0.015fF--+==vssssiennnnnnnnns (R o N
0.005 *i%\ £ 4 ERRRRRR
1 : B

+

1

10 0?
TP vertr (cr%)

—=— DQM_mKkFit_TToriginal

Effici —e— DQM_mkKFit_TT_JanUpdate-noErr
ICIeNd __,__ pQM_mkFit_TT_JanUpdate-noErr1H

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01
0

14f-----e

Ratio

12f----e

PRt - A - -

[ Efficiency vs. sim PV z |

1 20 30
TP vert z (cm)

~ 0.05

>
50.045
£

OXoF: R FRRRY
0.005F [tk ﬁ*

T SR N S
R R S o RS S
P : : : :
c0.03f------ A CARAAEAAR N A P
o : : : :
R e S R
9} : : : :

0.02p----+- Feseee e Feeeeee A R [
0,015 +---[ oo i o

O~

Ratio

15 ---- L B SR B S R

..................

10 15 20
Sim. PV z (cm)




	Contents
	Page 1


